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Addition of three or more numbers

Grade 1 Word Problems Worksheet

Today is the day for the field trip to the zoo. Every
student is very excited!

1. There are 21 first graders and 6 second graders in
the first bus. In the second bus, there are 14 first
graders and 12 second graders. In the third bus,
there are 8 first graders and 15 second graders.
How many first graders are there? How many
second graders are there?¢

2. The zoo is separated into 4 zones. The Artfic zone
has 5 exhibits. The African zone has 11 exhibits.
The rainforest zone has 8 exhibits and the fropical
zone has 13 exhibits. How many exhibits are there
in the zoo?

3. Inthe exhibit for the zebras, there are 17 zebras
outside. In the sheltered areaq, there are
6 female zebras with 5 baby zebras.
How many zebras are there in totale
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4. At the ostrich exhibit, 6 eggs are laid and will be
brought to the nursery. In the first nursery, there
are 28 eggs waiting to be hatched. In the
second nursery, there are 9 eggs. How many
ostrich eggs are there in totale

5. The lion exhibit has 18 female lions and 5 male
lions. 6 baby lions were born last month. 3 of the
babies are male and 3 of them are female. How
many lions are there in the zoo?

6. Write the addition sentence that fits this: “In the
morning, 17 tons of fish is fed to the sharks. In the
afternoon, another 13 tons of fish is fed. Before
the zoo is closed, another 18 tons of fish is fed to
the sharks. The sharks are fed with 48 tons of fish
everyday.”
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Answers

1.

21 +14+8=43
There are 43 first graders.

6+12+15=33

There are 33 second graders.

5+11+8+13=37
There are 37 exhibits.

17+6+5=28
There are 28 zebras in total.

6+28+9=43
There are 43 ostrich eggs.

18+5+6=29
There are 29 lions in the zoo.

17 +13+18 =48
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